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1. एक ही पासे की तीन अलग-अलग स्थिततयााँ दिखाई गई हैं। ‘2’ 
िर्ााने वाले फलक के तवपरीत फलक पर संख्या ज्ञात कीजिए। 

  
 (a) 6 
 (b) 1 
 (c) 5 
 (d) 4 [d] 
 
2. उस वेन आरेख का चयन कीजिए िो ननम्नलिखखत वर्गों के बीच 

संबंध को सवोत्तम रूप से दर्ााता है। 
 मनुष्य, चचत्रकार, पुरुष 

 (a)  

 (b)  

 (c)  

 (d)  [d] 
 
3. यदद ‘P’ का अर्ा ‘÷’ है, ‘Q’ का अर्ा ‘×’ है, ‘R’ का अर्ा ‘+’ 

है और S का अर्ा ‘−‘ है, तो ननम्नलिखखत समीकरण में प्रश्न 
चचन्ह (?) के स्र्ान पर क्या आएर्गा? 

 [(18 S 5) Q 4] P 2 R 22 Q 3 S 24 R 9 = ? 
 (a) 63 
 (b) 82 
 (c) 89 
 (d) 77 [d] 
 
4. ननम्नलिखखत में से कौन-सी संख्या दी र्गई श्रखंिा में प्रश्न चचह्न 

(?) को प्रनतस्र्ानपत करेर्गी? 
 12, 13, 30, 99, 412, ? 
 (a) 2075 
 (b) 2085 
 (c) 2065 
 (d) 2055 [b] 
 

5. एक ननश्चित कूट भाषा में, 'FOX' को '14' के रूप में कूटबद्ध 
नकया िाता है और 'GOAT' को '21' के रूप में कूटबद्ध नकया 
िाता है। उसी भाषा में 'TOMMY' को नकस प्रकार कूटबद्ध 
नकया िाएर्गा? 

 (a) 30 
 (b) 35 
 (c) 25 
 (d) 45 [a] 
 
6. अिय बबिंदु A से र्गाडी चिाना र्ुरू करता ह ैऔर दश्चिण की 

ओर 20 km र्गाडी चिाता है। निर वह बाएँ मुडता है, 5 km 
र्गाडी चिाता है, बाएँ मुडता ह ैऔर 30 km र्गाडी चिाता ह।ै 
निर वह दाएँ मुडता ह ैऔर 8 km र्गाडी चिाता ह।ै अंनतम बार 
वह दाएँ मुडता है, 10 km र्गाडी चिाता है और बबिंदु Q पर 
रुकता है। अब बबिंदु A पर दोबारा पहँचने के लिए उसे नकतनी 
दूरी (न्यूनतम दूरी) और नकस ददर्ा की ओर र्गाडी चिानी 
चानहए? (सभी मोड केवि 90° वािे मोड हैं।) 

 (a) पश्चिम की ओर 8 km 
 (b) पूर्व की ओर 13 km 
 (c) पश्चिम की ओर 13 km 
 (d) पश्चिम की ओर 5 km [c] 
 
7. अददनत अपने घर से ननकिती है और 38 m पश्चिम की ओर 

चिती है और निर दाएँ मुडती है और 19 m चिती ह।ै अब वह 
दाएँ मुडती है और 25 m चिती है। निर वह बाएँ मुडती है और 
21 m चिती है। वह निर से बाएँ मुडती है और 38 m चिती 
है। वह अंनतम बाएँ मुडती है और स्र्ान X पर रुकने के लिए 25 
m चिती ह।ै वह उस खंभे से नकतनी दूरी पर है िो उसके घर 
से 15 m उत्तर में ह?ै (मान िीजिए नक सभी मोड केवि 90 
चिग्री के मोड हैं।) 

 (a) 38 m 
 (b) 49 m 
 (c) 57 m 
 (d) 51 m [d] 
 
8. ननम्नलिखखत आकर नतयों में एक कार्गज़ को मोडने का क्रम और 

मुडे हए कार्गज़ को काटने का तरीका दर्ााया र्गया ह।ै खोिे िान े
पर यह कार्गज़ कैसा ददखाई देर्गा? 

  

 (a)  
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 (b)  

 (c)  

 (d)  [b] 
 
9. उस नवकल्प का चयन कीजिए, जिसमें दी र्गई आकर नत (X) 

उसके भार्ग के रूप में सन्न्ननहत है। (घणूान की अनुमनत नहीं ह।ै)  

  

 (a)  

 (b)  

 (c)  

 (d)  [c] 
 
 

10. यदद + और − को आपस में बदि ददया िाए, सार् ही 8 और 6 
को भी आपस में बदि ददया िाए, तो प्रश् नवाचक चचह्न (?) के 
स्र्ान पर क्या आएर्गा? 

 8 − 6 + 10 = ? 
 (a) 5 
 (b) 4 
 (c) 6 
 (d) 7 [b] 
 
11. P, Q, R, S, T और U एक वरत्ताकार मेि के चारो ओर कें द्र की 

ओर मुख करके बैठे हैं। T और R के बीच केवि एक व्यलि बैठा 
है। केवि एक व्यलि R और U के बीच बैठा ह।ै U और Q के 
बीच केवि दो व्यलि बैठे हैं। S, T के ठीक बाए ंबैठा है। P के 
बाएं से दूसरे स्र्ान पर कौन बैठा है? 

 (a) U 
 (b) S 
 (c) R 
 (d) Q [d] 
 
12. उस नवकल्प का चयन कीजिए, िो पाँचवें अिर-समूह से उसी 

प्रकार संबंचधत है, जिस प्रकार दूसरा अिर-समूह, पहिे अिर-
समूह से संबंचधत है और चौर्ा अिर-समूह, तीसरे अिर-समूह 
से संबंचधत है। 

 ISLAND: ANDISL :: EITHER : HEREIT :: IMPACT: ? 
 (a) ACTIMP 
 (b) IPMCTA 
 (c) ICAPMT 
 (d) TCAPMI [a] 
 
13. A, B, C, D, E और F एक पररवार के छह सदस्य हैं। पररवार में 

माता-नपता, उनके बच्चे और पोते-पोनतयाँ हैं। A, C का पुत्र ह ै
और E, A की पुत्री है। D, F की पुत्री है िो E की माता ह।ै 
ननम्नलिखखत में से कौन-सा युग् म माता-नपता के पोते-पोनतयों 
का है? 

 (a) D, E 
 (b) A, E 
 (c) A, D 
 (d) C, E [a] 
 
14. एक कूट भाषा में ‘ROAD’ को ‘QKZZ’ के रूप में लिखा िाता 

है और ‘BAND’ को ‘AWMZ’ के रूप में लिखा िाता है। इसी 
कूट भाषा में ‘TASK’ को कैसे लिखा िाएर्गा? 

 (a) SRGW 
 (b) SWRG 
 (c) RSWG 
 (d) GRSW [b] 
 
15. एक ननश्चित कूट भाषा में ‘MAP’ को ‘102’ और ‘ROT’ को 

‘56’ के रूप में लिखा िाता है। उस भाषा में ‘SEC’ कैसे लिखा 
िाएर्गा? 

 (a) 84 
 (b) 112 
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 (c) 98 
 (d) 108 [d] 
 
16. यदद ‘A’ का अर्ा ‘÷’ है, ‘B’ का अर्ा ‘×’ है, ‘C’ का अर्ा ‘+’ 

है और ‘D’ का अर्ा ‘−’ है, तो ननम्नलिखखत समीकरण में प्रश्न 
चचह्न (?) के स्र्ान पर क्या आएर्गा? 

 905 B 2 C 47 D 903 A 3 = ? 
 (a) 1165 
 (b) 1556 
 (c) 1655 
 (d) 1155 [b] 
 
17. एक कूट भाषा में, 'POET' को ‘14-13-3-18’ और 'SOON' 

को ‘17-13-13-12’ के रूप में कूटबद्ध नकया िाता ह।ै उसी 
भाषा में 'WRITE' को कैसे कूटबद्ध नकया िाएर्गा? 

 (a) 19-16-7-18-5 
 (b) 21-16-7-9-3 
 (c) 19-16-5-18-3 
 (d) 21-16-7-18-3 [d] 
 
18. यदद ‘P’ का अर्ा ‘÷’ है, ‘Q’ का अर्ा ‘×’ है, ‘R’ का अर्ा ‘+’ 

है और S का अर्ा ‘−‘ है, तो ननम्नलिखखत समीकरण में प्रश्न 
चचन्ह (?) के स्र्ान पर क्या आएर्गा? 

 (121 S 46) R 19 Q 5 R 126 P 6 S 38 = ? 
 (a) 159 
 (b) 144 
 (c) 153 
 (d) 139 [c] 
 
19. उस समुच्चय का चयन करें जिसकी संख्याए ं उसी तरह से 

संबंचधत हैं जिस तरह ननम्नलिखखत समुच्चयों की संख्याए ं
संबंचधत हैं। 

 (नोट: संख्याओं को उसके घटक अंकों में तोडे नबना, पणूा 
संख्याओं पर संनक्रयाएं की िानी चानहए। उदाहरण के लिए 
संख्या 13 को िें - 13 पर संनक्रयाएं, िैसे नक 13 में 
िोडना/घटाना/र्गुणा करना आदद, की िा सकती हैं। 13 को 1 
और 3 में तोडने और निर 1 और 3 पर र्गश्चणतीय संनक्रयाएं करन े
की अनुमनत नहीं है) 

 (21, 3, 15) 
 (49, 7, 35) 
 (a) (84, 12, 60) 
 (b) (84, 12, 62) 
 (c) (85, 12, 60) 
 (d) (85, 13, 60) [a] 
 
20. ननम्नलिखखत आकर नतयों में एक कार्गज़ को मोडने का क्रम और 

मुडे हए कार्गज़ को काटने का तरीका दर्ााया र्गया ह।ै खोिे िान े
पर यह कार्गज़ कैसा ददखाई देर्गा? 

  

 (a)  

 (b)  

 (c)  

 (d)  [a] 
 
21. उस नवकल्प का चयन करें, िो ददए र्गए र्ब्दों के उस सही क्रम 

को दर्ााता है, जिसमें वे अंग्रेज़ी र्ब्दकोर् में ददखाई देंर्ग।े 
 1. Dermatology 
 2. Derogation 
 3. Derivative 
 4. Derailed 
 5. Dermestid 
 6. Deregulation 
 (a) 4, 6, 1, 5, 3, 2 
 (b) 4, 6, 3, 2, 1, 5 
 (c) 4, 3, 2, 1, 5, 6 
 (d) 4, 6, 3, 1, 5, 2 [d] 
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22. ननम्नलिखखत समीकरण में '?' के स्र्ान पर क्या आएर्गा, यदद 
'+' और '–' को आपस में बदि ददया िाए तर्ा '×' और '÷' 
को भी आपस में बदि ददया िाए? 

 154 × 11 − 24 ÷ 3 + 19 = ? 
 (a) 54 
 (b) 71 
 (c) 67 
 (d) 62 [c] 
 
23. ददए र्गए नवकल्पों में से उस संख्या का चयन करें िो 

ननम्नलिखखत श्रंखिा में प्रश्न चचह्न (?) के स् र्ान पर आ सकती 
है। 

 115, 140, 160, 175, 185, ? 
 (a) 192 
 (b) 195  
 (c) 190  
 (d) 193 [c] 
 
24. ननम्नलिखखत में से कौन-सा अिर समूह प्रश्न-चचह्न (?) का 

स्र्ान िेर्गा और दी र्गई र्रखंिा को पूरा करेर्गा? 
 TDQR, SFNV, ?, QJHD, PLEH 
 (a) RGJZ 
 (b) IDBZ 
 (c) FJCQ 
 (d) RHKZ [d] 
 
25. ननम्नलिखखत में से कौन-सा पद दी र्गई र्रंखिा में प्रश्न-चचह्न (?) 

को प्रनतस्र्ानपत करेर्गा? 
 CJS, DKT, ELU, ? 
 (a) FMV 
 (b) DLO 
 (c) DRT 
 (d) DHB [a] 
 
26. उस वेन आरेख का चयन कीजिए िो ननम्नलिखखत वर्गों के बीच 

संबंध को सवोत्तम रूप से दर्ााता है। 
 मैकेननक, चपरासी, वकीि 

 (a)  

 (b)  

 (c)  

 (d)  [a] 
 

27. एक ननश्चित कूट भाषा में, 
 ‘A + B’ का अर्ा है' A, B की माता है' 
 ‘A – B’ का अर्ा है' A, B का पनत है' 
 ‘A × B’ का अर्ा है' B, A की बहन है' 
 ‘A ÷ B’ का अर्ा है' A, B का नपता है' 
 उपयुाि के आधार पर, यदद ‘D ÷ E – C + A × B ’ है, तो B 

नकस प्रकार E से संबंचधत है? 
 (a) पुत्र 
 (b) पत्नी 
 (c) पुत्री 
 (d) माता [c] 
 
28. एक कूट भाषा में, 'BASIC' को 101 के रूप में कूटबद्ध नकया 

िाता है और 'MAGIC' को 102 के रूप में कूटबद्ध नकया िाता 
है। उसी भाषा में 'LIGHT' को नकस प्रकार कूटबद्ध नकया 
िाएर्गा? 

 (a) 82 
 (b) 86 
 (c) 79 
 (d) 85 [c] 
 
29. उस समुच्चय का चयन करें जिसकी संख्याए ं उसी तरह से 

संबंचधत हैं जिस तरह ननम्नलिखखत समुच्चयों की संख्याए ं
संबंचधत हैं। 

 (नोट: संख्याओं को उसके घटक अंकों में तोडे नबना, पणूा 
संख्याओं पर संनक्रयाएं की िानी चानहए। उदाहरण के लिए 
संख्या 13 को िें - 13 पर संनक्रयाएं, िैसे नक 13 में िोडना / 
घटाना / र्गणुा करना आदद, की िा सकती हैं। 13 को 1 और 3 
में तोडने और निर 1 और 3 पर र्गश्चणतीय संनक्रयाएं करने की 
अनुमनत नहीं है) 

 (14, 28, 84) 
 (17, 34, 102) 
 (a) (20, 41, 136) 
 (b) (20, 41, 126) 
 (c) (21, 42, 136) 
 (d) (21, 42, 126) [d] 
 
30. िब दपाण को नीच ेदर्ााए र्गए अनुसार MN पर रखा िाता ह ै

तो दी र्गई आकर नत के सही दपाण प्रनतबबिंब का चयन कीजिए। 

  

 (a)  

 (b)  

 (c)  

 (d)  [d] 
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31. उस वेन आरेख का चयन करें िो ननम्नलिखखत वर्गों के बीच के 
संबंध को सवोत् तम रूप से दर्ााता है। 

 भारत, तचमिनािु, चेन्नई 

 (a)  

 (b)  

 (c)  

 (d)  [a] 
 
32. कौनसा अिर-समूह दी र्गई श्रखंिा को पूरा करेर्गा? 
 FPW, FFPPPWW, FFFFPPPPPWWW, _________ 
 (a) FFFFFFFFPPPPPPPWWWW 
 (b) FFFFFFFFPPPPPPPPPWWWWW 
 (c) FFFFFFPPPPPWWWW  
 (d) FFFFFFPPPPPPWWWWW [a] 
 
33. ददए र्गए नवकल्पों में से उस आकर नत का चयन कीजिए, िो 

ननम्नलिखखत श्रंखिा में प्रश्न चचह्न (?) को तार्किंक रूप से 
प्रनतस्र्ानपत कर सकती है। 

  

 (a)  

 (b)   

 (c)  

 (d)  [c] 
 
34. एक पासे के ििकों पर 2, 4, 6, 8, 10 और 12 संख्याएँ अंनकत 

हैं। उसी पासे की दो स्स्र्नतयाँ नीचे दी र्गई हैं। 4 वाि ेििक के 
नवपरीत कौन-सा ििक है? 

  
 (a) 12 
 (b) 6 
 (c) 10 
 (d) 2 [d] 
 
35. यदद ‘P’ का अर्ा ‘÷’ ह,ै ‘Q’ का अर्ा ‘×’ ह,ै ‘R’ का अर्ा ‘+’ 

है और S का अर्ा − है, तो ननम्नलिखखत समीकरण में प्रश्न चचन्ह 
(?) के स्र्ान पर क्या आएर्गा? 

 45 R (26 Q 2) P 4 R 19 S 32 = ? 
 (a) 45 
 (b) 35 
 (c) 50 
 (d) 40 [a] 
 
36. अंग्रेिी वणामािा क्रम पर आधाररत, ननम्नलिखखत चार अिर-

समूहों में से तीन नकसी ननश्चित तरीके से समान हैं और इस 
प्रकार एक समूह बनाते हैं। नकस अिर-समूह का संबधं उस 
समूह से नहीं है? 

 (नोट: असंर्गत अिर-समूह, वं्यिनों/स्वरों की संख्या या इस 
अिर-समूह में उनकी स्स्र्नत पर आधाररत नहीं है।) 

 (a) JMP 
 (b) FIK 
 (c) DGI 
 (d) ORT [a] 
 
37. उस नवकल्प आकर नत का चयन कीजिए जिसमें दी र्गई आकर नत 

उसके एक भार्ग के रूप में अंतर्निंनहत हो (घुमाने की अनुमनत 
नहीं है) । 
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 (a)  

 (b)  

 (c)  

 (d)  [b] 
 
38. ननम्नलिखखत में से कौन-सी संख्या दी र्गई श्रखंिा में प्रश्न चचह्न 

(?) को प्रनतस्र्ानपत करेर्गी? 
 29, 30, 26, 35, 19, ? 
 (a) 42 
 (b) 43 
 (c) 44 
 (d) 41 [c] 
 
39. ददए र्गए संख्या-युग्मों में, पहिी संख्या पर कुछ र्गश्चणतीय 

संनक्रयाओं को िार्गू करके दूसरी संख्या प्राप्त की िाती है। ऐसे 
संख्या-युग्म का चयन कीजिए, जिसमें संख्याए ँठीक उसी प्रकार 
संबंचधत हैं, िैसे ददए र्गए संख्या-युग्मों की संख्याए ँसंबंचधत हैं। 

  (नोट: संख्याओं को उनके घटक अंकों में तोडे नबना संनक्रयाए ँ
पूणा संख्याओं पर की िानी चानहए। उदाहरण के लिए, 13 को 
िीजिए - 13 पर संनक्रयाएँ िैसे नक 13 में िोडना/घटाना/र्गणुा 
करना आदद की िा सकती हैं। 13 को 1 और 3 में तोडना तर्ा 
निर 1 और 3 पर र्गश्चणतीय संनक्रयाएँ करना अनुमन्य नहीं ह।ै) 

 (45, 88) 
 (26, 50) 
 (a) (18, 36) 
 (b) (21, 41) 
 (c) (15, 32) 
 (d) (22, 42) [d] 
 
 

40. एक कूट भाषा में, 'PIG' को 29 के रूप में कूटबद्ध नकया िाता 
है और 'COW' को 38 के रूप में कूटबद्ध नकया िाता है। उसी 
भाषा में 'CAMEL' को नकस प्रकार कूटबद्ध नकया िाएर्गा? 

 (a) 29 
 (b) 31 
 (c) 27 
 (d) 22 [a] 
 
41. ननम्नलिखखत में से कौन-सी संख्या दी र्गई श्रखंिा में प्रश्न चचह्न 

(?) को प्रनतस्र्ानपत करेर्गी? 
 324, 722, 1200, ?, 2420 
 (a) 1764 
 (b) 1634 
 (c) 1632 
 (d) 1736 [a] 
 
42. दो कर्न ददए र्गए हैं, जिनके बाद दो ननष्कषा I और II ददए र्गए 

हैं। कर्नों को सत्य मानते हए, भिे ही वे सामान्य रूप से ज्ञात 
तथ्यों से श्चभन्न प्रतीत होते हों, हों ननधााररत करें नक कौन-सा/से 
ननष्कषा कर्नों का तार्किंक रूप से अनुसरण करता है/करते हैं। 

 कर्न: 
 सभी पंख सिेद हैं। 
 कोई सिेद छडी नहीं है। 
 ननष्कषा: 
 I. कुछ पंख छडी हैं। 
 II. कोई छडी सिेद नहीं है। 
 (a) केर्ल ननष्कर्व II अनुसरण करता है 
 (b) ननष्कर्व I और II दोनों अनुसरण करते हैं 
 (c) केर्ल ननष्कर्व I अनुसरण करता है 
 (d) न तो ननष्कर्व I अनुसरण करता है और न ही II अनुसरण करता 

है [a] 
 
43. उस समुच्चय का चयन करें जिसकी संख्याए ं उसी तरह से 

संबंचधत हैं जिस तरह ननम्नलिखखत समुच्चयों की संख्याए ं
संबंचधत हैं। 

 (नोट: संख्याओं को उसके घटक अंकों में तोडे नबना, पणूा 
संख्याओं पर संनक्रयाएं की िानी चानहए। उदाहरण के लिए 
संख्या 13 को िें - 13 पर संनक्रयाएं, िैसे नक 13 में 
िोडना/घटाना/र्गुणा करना आदद, की िा सकती हैं। 13 को 1 
और 3 में तोडने और निर 1 और 3 पर र्गश्चणतीय संनक्रयाएं करन े
की अनुमनत नहीं है) 

 (288, 144, 24)  
 (432, 216, 36)  
 (a) (504, 250, 42) 
 (b) (506, 252, 42) 
 (c) (504, 252, 44) 
 (d) (504, 252, 42) [d] 
 
44. र्गश्चणतीय चचह्नों का ननम्नलिखखत में से कौन-सा परस्पर नवननमय 

ददए र्गए समीकरण को सही (संतुलित) कर देर्गा? 
 56 ÷ 8 − 14 × 2 + 12 = 23 
 (a) ÷ और × 
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 (b) + और × 
 (c) − और + 
 (d) − और × [c] 
 
45. उस समुच्चय का चयन करें जिसकी संख्याए ं उसी तरह से 

संबंचधत हैं जिस तरह ननम्नलिखखत समुच्चयों की संख्याए ं
संबंचधत हैं। 

 (नोट: संख्याओं को उसके घटक अंकों में तोडे नबना, पणूा 
संख्याओं पर संनक्रयाएं की िानी चानहए। उदाहरण के लिए 
संख्या 13 को िें - 13 पर संनक्रयाएं, िैसे नक 13 में 
िोडना/घटाना/र्गुणा करना आदद, की िा सकती हैं। 13 को 1 
और 3 में तोडने और निर 1 और 3 पर र्गश्चणतीय संनक्रयाएं करन े
की अनुमनत नहीं है) 

 (16, 4, 20) 
 (28, 7, 35) 
 (a) (52, 13, 60) 
 (b) (50, 13, 60) 
 (c) (50, 13, 65) 
 (d) (52, 13, 65) [d] 
 
46. ददए र्गए नवकल्पों में से उस आकर नत का चयन कीजिए, िो 

ननम्नलिखखत श्रंखिा में प्रश्न चचह्न (?) को तार्किंक रूप से 
प्रनतस्र्ानपत कर सकती है। 

  

 (a)  

 (b)  

 (c)  

 (d)  [d] 
 
47. िब दपाण को नीच ेदर्ााए र्गए अनुसार MN रेखा पर रखा िाता 

है तो दी र्गई आकर नत के सही दपाण प्रनतबबिंब का चयन कीजिए। 

  

 (a)  

 (b)  

 (c)  

 (d)  [a] 
 
48. उस नवकल्प का चयन करें िो पांचवें अिर-समूह से उसी प्रकार 

संबंचधत ह ैजिस प्रकार दूसरा अिर-समूह पहि ेअिर-समूह से 
संबंचधत है और चौर्ा अिर-समूह तीसरे अिर-समूह से 
संबंचधत है। 

 JOCK : GLZH :: HURT : EROQ :: SPIN : ? 
 (a) QNFK 
 (b) QMEK 
 (c) PMFK 
 (d) PNEL [c] 
 
49. उस नवकल्प का चयन कीजिए, िो ददए र्गए र्ब्दों के सही क्रम 

को ननरूनपत करता है, िैसे नक वे अँग्रेिी र्ब्दकोर् में ददखाई 
देते हैं। 

 1. Temperament 
 2. Tenure 
 3. Tenant 
 4. Tender 
 5. Temptation 
 6. Temperature 
 (a) 1, 6, 5, 2, 4, 3 
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 (b) 1, 6, 5, 2, 3, 4 
 (c) 1, 6, 5, 3, 2, 4 
 (d) 1, 6, 5, 3, 4, 2 [d] 
 
50. उस नवकल्प आकर नत की पहचान कीजिए जिसे प्रश्न चचह्न (?) के 

स्र्ान पर रखने पर र्रंखिा तार्किंक रूप से पूरी हो िाएर्गी। 

  

 (a)  

 (b)  

 (c)  

 (d)  [d] 
 
Section: General Knowledge and General Awareness 
1. 57वें ज्ञानपीठ पुरस्कार से सम्माननत दामोदर माऊिो, मुख्य 

रूप से एक _________ िेखक हैं। 
 (a) ओडिया 
 (b) मैथिली 
 (c) कोंककों णी 
 (d) बगंाली [c] 
 
2. भारत के, ननम्नलिखखत में से कौन-से राज्य में प्रारंश्चभक वषाा, 

मानसून की अरब सार्गर र्ाखा के द्वारा होती है? 
 (a) डमजोरम 
 (b) केरल 
 (c) असम 
 (d) तडमलनािु [b] 
 
3. नकसके र्ासनकाि में मुग़ि साम्राज्य न े अपनी सबसे बडी 

िेत्रीय सीमाएँ प्राप्त की? 
 (a) औरंगजेब 
 (b) बहादुर शाह नितीय 

 (c) शाहजहााँ  
 (d) अकबर [a] 
 
4. ननम्नलिखखत में से सही कर्न/कर्नों का चयन कीजिए। 
 i. दसवीं योिना अवचध में, भारतीय अर्ाव्यवस्र्ा 7.7 % प्रनत 

वषा की दर से बढी। 
 ii. ग्यारहवीं पंचवषीय योिना के लिए िश्चित वरजद्ध 9% प्रनत 

वषा र्ी। 
 iii.नौवीं योिना अवचध में, भारत ने 7.5% प्रनत वषा की वरजद्ध 

दिा की। 
 (a) i और ii 
 (b) i और iii 
 (c) केर्ल iii 
 (d) ii और iii [a] 
 
5. वैश्चिक भुखमरी सूचकांक 2022 के अनुसार, 121 देर्ों में से 

पडोसी देर् बांग्िादेर् का कौन-सा स्र्ान है? 
 (a) 109र्ााँ 
 (b) 84र्ााँ 
 (c) 107र्ााँ 
 (d) 99र्ााँ [b] 
 
6. भारत के सवोच्च न्यायािय के िेत्राचधकार के संबधं में 

ननम्नलिखखत में से कौन सा कर्न सही ह?ै 
 A. मूि िेत्राचधकार भारत सरकार और एक या अचधक राज्यों 

के बीच या भारत सरकार और नकसी राज्य या राज्यों और 
दूसरी तरि एक या अचधक राज्यों के बीच या दो या अचधक 
राज्यों के बीच नकसी भी नववाद तक नवस् तरत है। 

 B. अपीिीय अचधकार िेत्र का नवस्तार तब होता है िब संघ 
और कुछ राज्य नववाद के एक तरि होते हैं और कुछ अन्य 
राज्य दूसरी तरि होते हैं। 

 C. संनवधान के अनुच्छेद 129 और 142 के तहत, सवोच्च 
न्यायािय में अदाित की अवमानना के लिए दंचित करन े
की र्लि नननहत है। 

 D. अभी तक, सवोच्च न्यायािय में अंतरााष्ट्री य वाश्चणस्ज्यक 
मध्यस्र्ता र्रुू नहीं की िा सकती ह।ै 

 (a) A, B, C और D 
 (b) A और C केर्ल 
 (c) A और B केर्ल 
 (d) B और D केर्ल [b] 
 
7. नकस वषा मूि सूची में चार नए ननदेर्क लसद्धांत िोडे र्गए? 
 (a) 1976 
 (b) 1977 
 (c) 1975 
 (d) 1980 [a] 
 
8. ननम्नलिखखत में से कौन-सा बि केवि नकसी वस्तु के संपका  में 

आने पर ही िर्गाया िा सकता है? 
 (a) स्थिररै्द्यु त बल 
 (b) गुरुत्र्ाकर्वण बल 
 (c) घर्वण बल 
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 (d) चुंबकीय बल [c] 
 
9. भारत में राज्य नीनत के ननदेर्क लसद्धांत नकस देर् के संनवधान 

से लिए र्गए हैं? 
 (a) आयरलैंि (Ireland)  
 (b) सोनर्यत संघ (USSR)  
 (c) संयुक् त राज् य (The US)  
 (d) निटेन (Britain)  [a] 
 
10. वन्स अपॉन ए िाइि: बन्टा करी एंि ब्ििी रैग्स (Once Upon 

a Life: Burnt Curry and Bloody Rags) नकसका 
संस्मरण है? 

 (a) जेननस पररएट (Janice Pariat)  
 (b) पेट्री थसया मकुीम (Patricia Mukim)  
 (c) तेमसुला आओ (Temsula Ao)  
 (d) इथटराइन कीर (Easterine Kire)  [c] 
 
11. भारतीय नवमानपत्तन प्राचधकरण के अनुसार, 2022 तक की 

स्स्र्नत के अनुसार भारत में अंतरााष्ट्री य हवाई अड्डों की कुि 
संख्या नकतनी ह?ै 

 (a) 16 
 (b) 17 
 (c) 13  
 (d) 14 [c] 
 
12. कर्किी नरत्य के किाकारों के लिए नकतने प्रकार के श्ररं्गार 

(वेषम) का उपयोर्ग नकया िाता है? 
 (a) 11 
 (b) 9 
 (c) 5 
 (d) 7 [c] 
 
13. ननम्नलिखखत में से नकस अचधननयम में किकत्ता के स्र्ान पर 

ददल्िी को निदटर् भारत की रािधानी घोनषत नकया र्गया र्ा? 
 (a) मोंटेमों टेगू-चेम्सफोिव अडिननयम, 1919 (Montagu 

Chelmsford Act, 1919) 
 (b) माले-ममिंटो अडिननयम, 1909 (Morley - Minto Act, 

1909) 
 (c) भारत सरकार अडिननयम, 1935 (Government of 

India Act, 1935) 
 (d) भारत सरकार अडिननयम, 1858 (Government of 

India Act, 1858) [b] 
 
14. उदारीकरण के भार्ग के रूप में उद्योर्गों के प्रर्गनतर्ीि 

चििाइसेंससिंसें ससिंर्ग के सार् ननम्नलिखखत में से नकस उद्योर्ग को 
िाइसेंस की आवश्यकता से हटा ददया र्गया ह?ै 

 (a) खतरनाक रसायन 
 (b) कोयला और थलग्नाइट 
 (c) औद्योनगक नर्थफोटक 
 (d) तंबाकू के थसगार और थसगरेट, और ननर्मिंत तंबाकू के नर्कल्प[b] 
 
 

15. ननम्नलिखखत में से कौन-सी नदी दश्चिण से चबंि नदी से चमिती 
है? 

 (a) यमुना 
 (b) गंगा 
 (c) तीथता 
 (d) कोसी [a] 
 
16. र्गुि फ्राइि ेनकससे संबंचधत है? 
 (a) जैन 
 (b) थसखों 
 (c) हहिंदुओं 
 (d) ईसाइयों [d] 
 
17. ननम्नलिखखत में से कौन सा काबाननक यौनर्गक एक बेन्िीनॉइि 

है? 
 (a) हेक्सेन 
 (b) ऐननलीन 
 (c) प्रोपेन 
 (d) ऐथसटैस्ल्िहाइि [b] 
 
18. भारतीय संनवधान के ननम्नलिखखत में से नकस अनुच्छेद में 

उल्िखे है नक भारत के उपराष्ट्रपनत राज्य सभा के पदेन 
सभापनत होंर्गे? 

 (a) अनुच्छेद 90 
 (b) अनुच्छेद 91 
 (c) अनुच्छेद 89 
 (d) अनुच्छेद 92 [c] 
 
19. भारतीय संनवधान के नकस अनुच्छेद में राज्यसभा के सभापनत 

और उपसभापनत और िोकसभा के अध्यि और उपाध्यि के 
वेतन और भत्तों का उल्िेख है? 

 (a) अनुच्छेद 92 
 (b) अनुच्छेद 94 
 (c) अनुच्छेद 97 
 (d) अनुच्छेद 95 [c] 
 
20. छह पीदढयों से 'कर्किी' से िुडे प्रलसद्ध कवंर्गि पररवार के 

प्रनतचित और अनुभवी वंर्ि ननम्नलिखखत में से कौन है? 
 (a) मीनाक्षी सुंदरम नपल्लई 
 (b) चतुन्नी पश्चणक्कर 
 (c) अम्मानूर मािर् चक्यार 
 (d) पद्मा सुिमण्यम [b] 
 
21. सूत्री नवभािन (Mitosis) की चौर्ी अवस्र्ा क्या ह ै जिसमें 

र्गैर-काइनटेोकोर तकुा तंतु कोलर्का को िंबी करती हैं और 
बढाती हैं? 

 (a) अंत्यार्थिा (Telophase) 
 (b) मध्यार्थिा (Metaphase) 
 (c) पूर्ावर्थिा (Prophase) 
 (d) पिार्थिा (Anaphase) [d] 
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22. भारतीय संनवधान के नकस अनुच्छेद में उपाचधयों के उन्मूिन का 
उल्िखे ह?ै 

 (a) अनुच्छेद 13 
 (b) अनुच्छेद 18 
 (c) अनुच्छेद 24 
 (d) अनुच्छेद 23 [b] 
 
23. ननम्नलिखखत में से नकसे बीसी आई (BCCI) का 36वां अध्यि 

चुना र्गया है? 
 (a) सौरर् गागंुली 
 (b) अननल कंुबले 
 (c) चतेन शमाव 
 (d) रॉजर नबन्नी [d] 
 
24. मुद्रा (MUDRA) ऋण योिना के तहत नकतनी शे्श्चणयों में ऋण 

ददया िाता है? 
 (a) 4 
 (b) 1 
 (c) 2 
 (d) 3 [d] 
 
25. ननिाम-उि-मुल्क ने 1724 में नकस राज्य की स्र्ापना की र्ी? 
 (a) बंगाल 
 (b) अर्ि 
 (c) मैसूर 
 (d) हैदराबाद [d] 
 
26. ननम्नलिखखत में से कौन-सा देर् नवि बैिममिंटन चैम्म्पयनलर्प 

इवेंट 2026 की मेिबानी करेर्गा? 
 (a) जापान 
 (b) चीन 
 (c) भारत 
 (d) इंिोनेथशया [c] 
 
27. नवदु्यत पररपर् में प्रनतरोध को बदिन ेके लिए प्रयुि उपकरण 

की पहचान कीजिए। 
 (a) िारा ननयंत्रक (Rheostat) 
 (b) नर्द्युत चालक (Conductor) 
 (c) र्ाल्टमीटर (Voltmeter) 
 (d) ऐमीटर (Ammeter) [a] 
 
28. पादप कोलर्का में उपस्स्र्त उस कोलर्कांर्ग की पहचान कीजिए 

िो िंतु कोलर्का में नहीं होता है। 
 (a) न्यूरॉन 
 (b) कें द्रक 
 (c) कोथशका द्रव्य 
 (d) प्लास्थटि [d] 
 
29. उन तटों का चयन कीजिए िो अरब सार्गर के नकनारों से सटे हए 

हैं। 
 a. उत्तरी सरकार 
 b. मािाबार 

 c. कोंकणकों 
 d. कोरोमंिि 
 (a) a, b और c 
 (b) केर्ल b और c 
 (c) b, c और d 
 (d) केर्ल a और c [b] 
 
30. 2026 के र्ीतकािीन ओिंनपक ________ में आयोजित नकए 

िाएंर्गे। 
 (a) इटली 
 (b) जापान 
 (c) यूके 
 (d) अमेररका [a] 
 
31. भारत सरकार के कर नष सांस्ख्यकी एक झिक 2022 के अनुसार, 

नकस राज्य में र्गन्ने का सबसे अचधक उत्पादन दिा नकया र्गया? 
 (a) गुजरात 
 (b) महाराष्ट्र 
 (c) कनावटक 
 (d) उत्तर प्रदेश [d] 
 
32. ननम्नलिखखत में से नकस संर्गीतकार ने अनूप रार्ग नविास नामक 

पुस्तक लिखी है? 
 (a) पंडित ददनकर कैनकनी 
 (b) पडंित कुमार गिंर्व 
 (c) पंडित जसराज 
 (d) पडंित नबरजूमहाराज [b] 
 
33. ननम्नलिखखत में से कौन-सा/से कर्न प्रकार् वषा के संदभा में 

सत्य है/हैं? 
 1. प्रकार् वषा, दूरी की इकाई है। 
 2. प्रकार्, समय की इकाई ह।ै 
 3. प्रकार् वषा वह दूरी है, िो प्रकार्, एक परथ्वी वषा में तय करता 

है। 
 4. प्रकार् वषा प्रकार् की तीव्रता का माप है। 
 (a) केर्ल 1 सही है 
 (b) केर्ल 1 और 2 सही हैं 
 (c) केर्ल 2 सही है 
 (d) केर्ल 1 और 3 सही हैं [d] 
 
34. 1800 में, ननम्नलिखखत भौनतक नवज्ञाननयों में से नकसन,े 

आधुननक बटैरी के पूवार्गामी वोल्टाइक पाइि का आनवष्कार 
नकया र्ा? 

 (a) हैंस निश्चियन ओथटेि (Hans Christian Oersted) 
 (b) जॉजव साइमन (George Simon) 
 (c) आंदे्र-मैरी एम्पीयर (Andre-Marie Ampere) 
 (d) एलेसेंड्रो र्ोल्टा (Alessandro Volta) [d] 
 
35. कर्क के बनारस घराने का प्रनतननचधत्व करने वािी अनुभवी 

नताक कमलिनी अस्र्ाना और नलिनी अस्र्ाना को वषा 2022 
में ननम्नलिखखत में से नकस पुरस्कार से सम्माननत नकया र्गया? 

 (a) पद्म नर्भूर्ण 
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 (b) संगीत नाटक अकादमी 
 (c) पद्म श्री 
 (d) पद्म भूर्ण [c] 
 
36. र्गमी के मौसम में आने वािे स्र्ानीय तूिानों के संदभा में 

नोर'वेस्टसा (Nor’Westers) क्या हैं: 
 (a) ददल्ली और पटना के बीच उच्च तीव्रता के साि पंजाब से नबहार 

तक उत्तरी मैदानी इलाकों में चलने र्ाली गमव, शुष्क और 
दमनकारी हर्ाएाँ 

 (b) बंगाल और असम में शाम के समय चलने र्ाली भयानक 
आाँडियााँ 

 (c) मानसून से पहले की बाररश, जो केरल और कनावटक के तटीय 
क्षेत्रों में होने र्ाली एक सामान्य घटना है 

 (d) केरल में कॉफी के फूलों को ब्लो करने (खखलाने) र्ाली नजदीकी 
हर्ा [b] 

 
37. ननम्नलिखखत में से कौन-सा नवकल्प सही ढंर्ग से सुमेलित है? 
 (a) नबस्थमल्ला खााँ - तबला 
 (b) जानकर हुसैन - थसतार 
 (c) हररप्रसाद चौरथसया – सरोद 
 (d) सुल्तान खान - सारंगी [d] 
 
38. भारत की िनर्गणना 2011 के अनुसार, देर् की िनसंख्या में 

'अन्य धमों और मतों' तों का नकतना प्रनतर्त नहस्सा है? 
 (a) 0.7 
 (b) 1.7 
 (c) 0.4 
 (d) 2.3 [a] 
 
39. कौन सा एक अश्चभन्न मेम् िेन प्रोटीन है िो टेट्रा मर बनाता है और 

सेल् युिर मेम् िेन में िि और कुछ छोटे, अपररवर्तिंत नविेयों के 
नवसरण को सुनवधािनक बनाता है? 

 (a) ट्रांसफेररन (Transferrin) 
 (b) म्यूनकन्स (Mucins) 
 (c) एक्र्ापोररन्स (Aquaporins) 
 (d) इम्युनोग्लोबुथलन (Immunoglobulins) [c] 
 
40. ________ के कारण प्रत्यके योिना में िक्ष्यों का चयन नकया र्गया 

है। 
 (a) नर्कल्पों की सीमा 
 (b) संसािनों की सीमा 
 (c) असीडमत संसािन 
 (d) असीडमत जनशथि [b] 
 
41. र्गोबबिंद चंद्र पाि को वषा 2022 के लिए संर्गीत नाटक अकादमी 

अमरत पुरस्कार से सम्माननत नकया र्गया है। उन्होंने ननम्नलिखखत 
में नकस िेत्र में योर्गदान ददया है? 

 (a) ओडिसी नृत्य (गोटीपुआ) 
 (b) नृत्य (किक) 
 (c) कठपुतली 
 (d) रंगमंच (अश्चभनय) [a] 
 

42. निदटर् भारत के ननम्नलिखखत र्गवनार-िनरिों में से कौन स्वतंत्र 
प्रेस के पि में र्ा और उसन े1823 के प्रेस नवननयमों को ननरस्त 
कर ददया र्ा? 

 (a) लॉिव थलटन (Lord Lytton) 
 (b) लॉिवमेटकाफ़ (Lord Metcalfe) 
 (c) लॉिवररपन (Lord Ripon) 
 (d) लॉिवएलेनबरो (Lord Ellenborough) [b] 
 
43. ननम्नलिखखत में से कौन-सा चयनात्मक उधार-पत्र (selective 

credit instrument) ह?ै 
 (a) सी.आर.आर. (CRR) 
 (b) बैंक दर 
 (c) िेडिट राशहनिंग 
 (d) पररर्तवनीय आरश्चक्षत अनुपात [c] 
 
44. 1596 में, नकसने अपनी कर नत लर्सॉरस ज्योग्रानिकस में यह 

उल्िखे नकया है नक परथ्वी के महाद्वीप हमरे्ा अपनी वतामान 
स्स्र्नत में स्स्र्त नहीं र्े? 

 (a) िैन पीटर मैकें जी 
 (b) जॉजसे कुनर्यर 
 (c) लुइस अगाथसज 
 (d) अिाहम ऑटेथलयस [d] 
 
45. र्गोर्गा नवमी, िो नार्ग देवता, र्गोर्गािी को समर्पिंत है, मुख्य रूप 

से भारतीय राज्य ___________ में मनाई िाती है। 
 (a) आंध्र प्रदेश 
 (b) कनावटक 
 (c) ओडिशा 
 (d) राजथिान [d] 
 
46. 15वां पुरुष हॉकी नवि कप-2023 का खखताब नकस देर् न े

िीता है? 
 (a) भारत 
 (b) बसे्ल्जयम 
 (c) जमवनी 
 (d) पानकथतान [c] 
 
47. नेर्नि आकेस्ट्रा ऑि इंचिया के संस्र्ापक पंचित रनवर्कंर 

एक __________ वादक र्े। 
 (a) थसतार 
 (b) सारगंी 
 (c) सरोद 
 (d) बांसुरी [a] 
 
48. ननम्नलिखखत में से कौन-सा र्हर पांड्य साम्राज्य का बंदरर्गाह 

र्ा? 
 (a) तेन्कासी 
 (b) कोरकाई 
 (c) नर्रुिुनगर 
 (d) मििंडिगुल [b] 
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49. एनपलिम्नेदटक, मेटालिम्नेदटक और हाइपोलिम्नेदटक िि स्तर 
नकसके उदाहरण हैं? 

 (a) भूडमगत जल की नर्श्चभन्न परतों के 
 (b) नर्श्चभन्न पाररस्थिनतक चरणों के 
 (c) कठोर चट्टान की नर्थशष्ट परतों के 
 (d) एक झील के नर्थशष्ट तापीय थतरीकरण के [d] 
 
50. बहमनी साम्राज्य के अधीन, प्रांतों को ________ द्वारा प्रर्ालसत 

नकया िाता र्ा। 
 (a) अमीर 
 (b) अफाकी 
 (c) खलीसा 
 (d) तरफदार [d] 
 
Section: Quantitative Aptitude 
1. R घर से 30 चमनट में कायाािय पहंचता है और 20 चमनट में 

वापस आता है। घर से उसके कायाािय की दूरी 12.5 km है। 
बताइए नक घर से कायाािय तक िाने और निर घर वापस आन े
में उसकी औसत चाि (km/h में) क्या ह?ै 

 (a) 60 
 (b) 20 
 (c) 25 
 (d) 30 [d] 
 
2. यदद एक र्गोि ेकी नत्रज्या में 40% की वरजद्ध कर दी िाती है, तो 

इसके परिीय िेत्रिि में प्रनतर्त वरजद्ध की र्गणना करें। 
 (a) 88% 
 (b) 96% 
 (c) 85% 
 (d) 92% [b] 
 
3. यदि िो गोलों के पृष्ठीय के्षत्रफल 9:49 के अनपुात में हैं, तो उनके 

आयतन का अनपुात ज्ञात करें (िहां 
22π=
7

) 

 (a) 27:343 
 (b) 16:216 
 (c) 49:363 
 (d) 25:512 [a] 
 
4. दी र्गई तालिका का अध्ययन करें और नीच ेददए र्गए प्रश्न का उत्तर 

दें। 
 तालिका एक कंपनी द्वारा वषा 1989 से 1994 तक पाँच प्रकार 

की कारों Pरों , Q, R, S और T के उत्पादन को दर्ााती है। 
कार 
के 
प्रकार 

 
1989 

 
1990 

 
1991 

 
1992 

 
1993 

 
1994 

 
कुल 

P 8 20 16 17 21 6 88 
Q 16 10 14 12 12 14 78 
R 21 17 16 15 13 8 90 
S 4 6 10 16 20 31 87 
T 25 18 19 30 14 27 133 
कुल 74 71 75 90 80 86 476 

 नकस वषा में P और Q प्रकार की कारों का कुि उत्पादन R और 
S प्रकार की कारों के कुि उत्पादन के बराबर र्ा? 

 (a) 1991 
 (b) 1989 
 (c) 1992 
 (d) 1993 [d] 
 
5. A और B के अंकों का अनुपात 3 : 4 ह ैऔर B और C के अंकों 

का अनुपात 4 : 5 है। यदद C और A के अंकों के बीच का अंतर 
30 है, तो B को नकतने अंक प्राप्त हए? 

 (a) 56 
 (b) 52 
 (c) 60 
 (d) 64 [c] 
 
6. तनम्नललखखत ताललका चार कॉलेिों में लर्क्षकों (पुरुष और 

मतहला) की संख्या और उनमें प्रलर्क्षक्षत लर्क्षकों का प्रततर्त 
िर्ााती है।  
कॉलेि पुरुष मतहला 
 लर्क्षकों 

की संख्या 
प्रलर्क्षक्षत 
लर्क्षकों 
का % 

लर्क्षकों 
की संख्या 

प्रलर्क्षक्षत 
लर्क्षकों 
का % 

A 225 44 175 40 
B 250 30 128 25 
C 290 55 100 45 
D 350 60 150 30 

 कॉलेि A में गैर – प्रलर्क्षक्षत पुरुष लर्क्षकों और कॉलेि B में गैर 
– प्रलर्क्षक्षत मतहला लर्क्षकों की कुल संख्या तकतनी ह?ै 

 (a) 230 
 (b) 228 
 (c) 224 
 (d) 222 [d] 
 
7. यदद 35 cm और 25 cm नत्रज्या वािे दो वरत्त एक-दूसरे को 

बाह्य रूप से स्पर्ा करते हैं, तो उभयननि स्पर्ारेखा की िंबाई 
(cm में) क्या ह?ै (2 दर्मिव स्र्ानों तक पणूाांनकत) 

 (a) 52.25 
 (b) 59.16 
 (c) 45.29 
 (d) 60.00 [b] 
 
8. मीतू एक काम को 12 घंटे में पूरा कर सकती है।, इसकी काम 

को टीटू और सीटू एक साि ममलकर 2 घटें में कर सकते हैं, तिा 
मीतू और सीटू एक साि ममलकर 3 घटें में कर सकते हैं। टीटू को 
अकेले इस काम को पूरा करने में तकतना समय लगगेा? 

 (a) 4 घंटे 
 (b) 7 घंटे 
 (c) 6 घंटे 
 (d) 8 घंटे [a] 
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9. तकसी उत्पाि को अंतकत मूल्य पर 10% की व्यापाररक छूट िेकर 
बेचा िाता है। 10% की नकि छूट िेने के बाि, उत्पाि को 
₹7209 में बेचा गया अंतकत मूल्य (₹ में) क्या है? 

 (a) 8900 
 (b) 8510 
 (c) 8720 
 (d) 9000 [d] 
 
10. तनम्न ताललका छह अलग-अलग वषो के िौरान पांच अलग-

अलग कंपतनयों में र्ाममल होन ेवाले तवतरण भागीिारों (हिारों 
में) की संख्या िर्ााती है। 

 यदि एमेज़न मिलीवरी भागीिारों को औसतन ₹21000 का 
वेतन िेने का फैसला करता है और 2022 में उसी के ललए 
₹13.44 करोड़ आवंदटत करता है, तो 2021 से 2022 तक 
मिलीवरी भागीिारों की संख्या में होने वाली प्रततर्त वृजि ज्ञात 
कीजिए। 

 (a) 25% 
 (b) 28% 
 (c) 22.5% 
 (d) 20% [b] 
 

11. यदि A का 40% = B का 60% = C का 
1
6

 है, तो A:B:C का 

अनुपात ज्ञात करें 
 (a) 10:15:36 
 (b) 15:10:36 
 (c) 15:10:18 
 (d) 36:10:15 [b] 
 

12. यदि 
3tan =

10
है, तो ( ) ( )

( ) ( )

 

 

1+ sin 1- sin
1+ cos 1- cos

 का मान 

ज्ञात कीजिए। 

 (a) 
50
3

 

 (b) 
100

9
 

 (c) 
100

7
 

 (d) 
100

3
 [b] 

 
13. ΔXYZ और ΔLMN दो समरूप नत्रभुि हैं। यदद (ΔXYZ) का 

िेत्रिि = 16 cm2, (ΔLMN) का िेत्रिि = 25 cm2 और 
YZ = 2.4 cm ह,ै तो MN का माप क् या है? 

 (a) 3 cm 
 (b) 4 cm 
 (c) 2 cm 
 (d) 1 cm [a] 
 
 

14. चमश् धातु Aऔर B में, िेि और दटन का अनपुात क्रमर्ः 5 : 3 
और 3 : 1 ह।ै एक नई चमश् धातु बनाने के लिए, 80 kg चमश् 
धातु A और 100 kg चमश् धातु B को एक सार् चमिाया िाता 
है। नई चमश् धातु में दटन की मात्रा (kg में) नकतनी होर्गी? 

 (a) 81.3 
 (b) 55 
 (c) 90 
 (d) 68 [b] 
 

15.   
  
  

1 2 1 2 3+ ÷ 2 - 2 ×5 - of
4 5 5 3 5

का मान ज्ञात कीजिए। 

 (a) 
5
6

 

 (b) 
3
5

 

 (c) 
2
3

 

 (d) 
1
4

 [d] 

 
16. 9 × 9 + 9 ÷ 9 – 9 × 9 + 9 + 9 × 9 – 9 – 9 × 9 का मान ज्ञात 

कीजिए। 
 (a) 1 
 (b) 9 
 (c) 81 
 (d) 0 [a] 
 

17. यदि tan = 7/24 है, तो ( ) 2 2cos - sin  का मान ज्ञात 

कीजिए। 
 (a) 1 

 (b) 
527
625

 

 (c) 
576
550

 

 (d) 
520
625

 [b] 

 
18. तनम्नललखखत वं्यिक को सरल कीजिए: 

 ( ) ( )

( )

2 2525 + 175 - 525 - 175
525 × 175

 

 (a) 350 
 (b) 2 
 (c) 4 
 (d) 700 [c] 
 
19. ABC में, कोण BAC = 30º और कोण BCA = 60º ह।ै यदि 

AC = 13 cm और AB = 12 cm ह,ै तो BC तनम्न में से तकसके 
बराबर ह?ै 

 (a) 6 cm 
 (b) 5 cm 
 (c) 7 cm 
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 (d) 4 cm [b] 
 

20. यदि 
1x + = 2
x

 है, तो 
( )

  
     

4 3
4 3

4 4x + x -
xx

 का मान ज्ञात 

करें। 
 (a) 10 
 (b) 15 
 (c) -15 
 (d) -10 [c] 
 
21. एक कथबे की िनसंख्या में प्रतत वषा 8% की वृजि होती है। यदि 

इसकी वतामान िनसंख्या 142560 है, तो एक वषा पूवा 
िनसंख्या तकतनी िी? 

 (a) 133000 
 (b) 134000 
 (c) 131000 
 (d) 132000 [d] 
 
22. दी र्गई तालिका का अध्ययन करें और नीच ेददए र्गए प्रश्न का उत्तर 

दें। 
 तालिका र्ैिश्चणक वषा 2022-2023 के दौरान भारत के नवश्चभन्न 

र्हरों A, B, C, D रों और E में नवश्चभन्न पाठ्यक्रमों में नवद्यार्र्िंयों 
की संख्या दर्ााती ह।ै 

र्हर एमबीए तवज्ञान इंिीतनयररिंग आयुर्विंज्ञान एमसीए कुल 
A 1200 2560 4520 1100 960 10340 
B 1350 2650 5100 1050 850 11000 
C 1250 2640 4580 1120 750 10340 
D 1960 1250 3500 1850 1600 10160 
E 1200 2100 3500 1960 1540 10300 
कुल 6960 11200 21200 7080 5700  
 सभी र्हरों में कुि चमिाकर नवज्ञान के नवद्यार्र्िंयों और सभी 

र्हरों में कुि चमिाकर एमबीए के नवद्यार्र्िंयों के बीच नकतना 
अंतर है? 

 (a) 4240 
 (b) 4540 
 (c) 4440 
 (d) 4340 [a] 
 

23. यदि 4

4

1
16 + = 14159

16
x

x
 है, तो 

1
2 +

2
x

x
 का मान ज्ञात 

कीजिए। 
 (a) 15 
 (b) 11 
 (c) 9 
 (d) 12 [b] 
 
24. 22 × 10 ÷ 5 × 2 + 12 को सरि कीजिए। 
 (a) 103 
 (b) 101 
 (c) 100 
 (d) 102 [c] 

25. ( )  19sin + 6cot sin  का अमिकतम मान ज्ञात कीजिए। 

 (a) 297  
 (b) 397  
 (c) 197  
 (d) 497  [b] 
 
26. 35 - [30 + {10 + (12 - 10 - 4)}] को सरि कीजिए। 
 (a) 3 
 (b) -2 
 (c) -3 
 (d) 2 [c] 
 

27. ( )  5 + 6 + 3 +5 ÷2 ÷2 का मान तनम्न में से तकसके बराबर 
होगा? 

 (a) 12 
 (b) 8 
 (c) 14 
 (d) 10 [d] 
 
28. 28 cm व्यास वाले एक गोले का पषृ्ठीय के्षत्रफल (cm2 में) ज्ञात 

कीजिए (
22π=
7
उपयोग करें)  

 (a) 2464 
 (b) 1724 
 (c) 1731 
 (d) 2856 [a] 
 
29. एक टे्रन 35 चमनट में 56 km की दूरी तय करती है। उसी र्गनत 

से यात्रा करते हए, टे्रन नकतने सेकंि में 720 मीटर की दूरी तय 
करेर्गी? 

 (a) 27 
 (b) 30 
 (c) 24 
 (d) 32 [a] 
 
30. तनम्नललखखत बार-ग्राफ तवक्षभन्न वषो में तकसी तवर्ेष तवभाग के 

कमाचाररयों की भती को िर्ााता है। 

  
 No. of employees – कमाचाररयों की संख्या 
 2017 से 2018 तक कमाचाररयों की भती में प्रततर्त वृजि 

तकतनी है? 
 (a) 130% 
 (b) 120% 
 (c) 150% 
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 (d) 100% [d] 
 
31. (42)2 + 4 × 4 ÷ 4 − 4 का मान ज्ञात कीजिए। 
 (a) 40 

 (b) 44 

 (c) 43 

 (d) 42 [b] 
 
32. एक चनुाव में, A को 27% मत चमिे और B को 125,982 मत 

चमिे। 19% ने मतदान नहीं नकया। A द्वारा प्राप्त मतों की संख्या 
ज्ञात कीजिए। 

 (a) 44,327 
 (b) 1,88,973 
 (c) 57,827 
 (d) 62,991 [d] 
 
33. नत्रभुि DEF एक समबाह नत्रभुि है जिसकी भुिा की िंबाई 12 

cm है। यदद बबिंदु G, भुिा DE का मध्य-बबिंदु है, तो भुिा FG 
की िंबाई (cm में) क्या है? 

 (a) 6 
 (b) 6 3  
 (c) 12 
 (d) 3 6  [b] 
 
34. एक व्यलि 12 km/h की चाि से कुछ दूरी तय करता ह ैऔर 

8 km/h की चाि से वापस आता है। यदद उसके द्वारा लिया 
र्गया कुि समय 3 घटें और 45 चमनट है, तो तय की र्गई कुि दूरी 
(km में) ज्ञात करें। 

 (a) 24 
 (b) 12 
 (c) 36 
 (d) 32 [c] 
 
35. एक स्टोर में, ₹82,500 अंनकत मूल्य वािी एक वस्तु बट्टाकर त 

मूल्य पर ₹79,200 में उपिब्ध है। उस वस्तु पर नकतने प्रनतर्त 
की छूट दी र्गई है? 

 (a) 1% 
 (b) 4% 
 (c) 3% 
 (d) 2% [b] 
 
36. दी र्गई तालिका का अध्ययन करें और नीच ेददए र्गए प्रश्न का उत्तर 

दें। 
 तालिका र्ैिश्चणक वषा 2022-2023 के दौरान भारत के नवश्चभन्न 

र्हरों A, B, C, D रों और E में नवश्चभन्न पाठ्यक्रमों में नवद्यार्र्िंयों 
की संख्या दर्ााती ह।ै 

  

र्हर एमबीए तवज्ञान इंिीतनयररिंग आयुर्विंज्ञान एमसीए कुल 
A 1200 2560 4520 1100 960 10340 
B 1350 2650 5100 1050 850 11000 
C 1250 2640 4580 1120 750 10340 
D 1960 1250 3500 1850 1600 10160 
E 1200 2100 3500 1960 1540 10300 
कुल 6960 11200 21200 7080 5700  

 र्ैिश्चणक वषा 2022-2023 के दौरान सभी र्हरों में चमिाकर 
नवज्ञान पाठ्यक्रम में नवद्यार्र्िंयों की औसत संख्या नकतनी र्ी? 

 (a) 2240 
 (b) 2220 
 (c) 2200 
 (d) 2250 [a] 
 
37. एक व्यलि न ेसाधारण ब्याि पर कुछ धनरालर् बैंक में िमा की। 

20 वषों के बाद, धनरालर् िमा की र्गई धनरालर् से नौ र्गनुा हो 
र्गई। यदद ब्याि दर समान रहे तो नकतने वषों में धनरालर् 13 
र्गुना हो िाएर्गी? 

 (a) 28 
 (b) 30 
 (c) 23 
 (d) 25 [b] 
 
38. धातु की एक आयताकार र्ीट 60 cm x 25 cm ह।ै 5 cm 

भुिा वािे समान वर्गों को कोनों से काट ददया िाता है और र्ेष 
को मोडकर एक खिुा आयताकार बक्सा बनाया िाता है। बक्से 
का आयतन ज्ञात कीजिए। 

 (a) 3750 cm3 
 (b) 4750 cm3 
 (c) 2750 cm3 
 (d) 5750 cm3 [a] 
 
39. यदद 24 व्यलि 25 ददनों में 90 समान दीवारें बना सकते हैं, तो 

ऐसी 162 दीवारों को बनाने में 27 व्यलियों को और नकतने ददन 
िर्गेंर्ग?े 

 (a) 15 
 (b) 15 
 (c) 14 
 (d) 13 [b] 
 
40. 18 कमाचारी एक काया को 96 ददनों में पूरा कर सकते हैं। वे एक 

सार् काम करना र्ुरू करते हैं और 26 ददनों के बाद 10 और 
कमाचारी उनके सार् िुड िाते हैं। काया को कुि चमिाकर 
नकतने ददनों में पूरा नकया िाएर्गा? 

 (a) 70 
 (b) 71 
 (c) 72 
 (d) 69 [b] 
 
41. एक िल तनकासी टाइल 42 cm लंबा एक बेलनाकार खोल ह।ै 

आंतररक और बाह्य व्यास क्रमर्: 8 cm और 14 cm है। टाइल 
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के ललए आवश्यक ममट  टी का आयतन (cm3 में) तकतना ह?ै (
22π=
7
का उपयोग कीजिए।) 

 (a) 4125 
 (b) 4881 
 (c) 5241 
 (d) 4356 [d] 
 
42. x = SinA + CosA; y = SecA + CosecA होने पर 

ननम्नलिखखत में से कौन-सा नवकल्प सत्य होर्गा? 
 (a) y (1 - 2x2) = x 
 (b) y - 2x = x2 y 
 (c) y + 2x = x2 y 
 (d) y (1 + x2) = 2x [c] 
 
43. [{38 - (- 6)} × {9 - (8 - 1)}] ÷ [4 × {6 + (- 4)}] को सरि 

कीजिए। 
 (a) 22 
 (b) 11 
 (c) 18 
 (d) 14 [b] 
 
44. 4 दो उम्मीदवारों के बीच एक चुनाव में 10% मतदाताओं ने वोट 

नहीं िाि ेऔर 75 वोट अमान्य पाए र्गए। नविेता को अपेश्चित 
कुि वोटों के 50% वोट चमि ेऔर वह 170 वोटों से िीत र्गया। 
मतदाता सूची में नकतने मतदाताओं का नाम दिा है? 

 (a) 800 
 (b) 850 
 (c) 855 
 (d) 950 [d] 
 
45. एक पंसारी ने ₹700 में 10 kg चावि खरीदा। वह पररवहन पर 

कुछ रालर् व्यय करता है और निर इसे ₹1,400 में बेच देता है। 
यदद पंसारी द्वारा अर्ििंत िाभ प्रनतर्त 30% है, तो वह पररवहन 
पर नकतनी रालर् (₹ में) व्यय करता है? (ननकटतम पणूाांक तक 
पूणाांनकत कीजिए) 

 (a) 300 
 (b) 380 
 (c) 350 
 (d) 377 [d] 
 

46. 
11+ 11+ 15 + 12 +

3

का मान तकतना होगा? 

 (a) 
172
45

 

 (b) 
131
45

 

 (c) 
381
45

 

 (d) 
112
45

 [c] 

 
47. एक बईेमान िीिर अपने सामान को क्रय मूल्य पर 20% हानन 

पर बेचता है िेनकन एक दोषपणूा विन का उपयोर्ग करता ह ै
जिसका विन 25% कम होता है। उसका िाभ या हानन प्रनतर्त 
(दो दर्मिव स्र्ानों तक पणूाांनकत) ज्ञात कीजिए। 

 (a) 6.67%, हानन 
 (b) 3.33%, हानन 
 (c) 3.33%, लाभ 
 (d) 6.67%, लाभ [d] 
 
48. तनम्नललखखत को सरल कीजिए। 
 

( )

92736 + 5137274 + 830 of
4

 

 (a) 526 
 (b) 546 
 (c) 561 
 (d) 574 [c] 
 
49. र्ांत िि में एक व्यलि की चाि, धारा की चाि से 4 km/h 

अचधक है। यदद वह व्यलि धारा की अनुकूि ददर्ा में 45 km 
और धारा की प्रनतकूि ददर्ा में 35 km की दूरी तय करन ेमें 
कुि 10 घटें िेता है, तो र्ांत िि में व्यलि की चाि नकतनी ह?ै 

 (a) 18 km/h 
 (b) 22 km/h 
 (c) 15 km/h 
 (d) 20 km/h [d] 
 
50. एक पररवार की एक महीने में तवक्षभन्न मिों में की गई बचत और 

व्यय को दिए गए पाटा चाटा में िर्ााया गया है। यह पररवार हर 
महीने ₹8000 की बचत करता है। 

  
 Monthly Expenditure of a family = एक पररवार का 

मालसक व्यय 
 Food : भोिन Infrastructure : आिारभूत संरचना 

Saving : बचत 
 Education : लर्क्षा Other : अन्य 
 पररवार का कुल मालसक व्यय (₹में) ज्ञात कीजिए। 
 (a) 40000 
 (b) 35000 
 (c) 30000 
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 (d) 25000 [a] 
 
Section: English Comprehension 
1. Select the most appropriate idiom to fill in the 

blank. 
 John was always ________ about becoming a 

millionaire without doing any hard work. 
 (a) eating like a horse 
 (b) having an ace up his sleeve 
 (c) building castles in the air 
 (d) a storm in a tea cup [c] 
 
2. Parts of the following sentences have been 

given as options. Select the option that 
contains a grammatical error. 

 Ms. Malathi is living lonely in an apartment. 
 (a) lonely in 
 (b) is living 
 (c) an apartment 
 (d) Ms. Malathi [a] 
 
3. Select the INCORRECTLY spelt word. 
 (a) Hierarchy 
 (b) Knowledgeable 
 (c) Neccessity 
 (d) Perseverance [c] 
 
4. Select the most appropriate option that can 

substitute the underlined words in the given 
sentence. 

 Though very informative, Shweta’s article was 
mercilessly rejected of the editor. 

 (a) was mercilessly rejected each 
 (b) was mercilessly rejected of 
 (c) was mercilessly rejected on 
 (d) was mercilessly rejected by [d] 
 
5. Select the most appropriate synonym of the 

underlined word in the given sentence. 
 The environmental organisation issued a 

statement to condemn the deforestation 
happening in the protected area. 

 (a) Foster 
 (b) Persuade 
 (c) Censure 
 (d) Compel [c] 
 
6. Select the most appropriate option that can 

substitute the underlined segment in the 
given sentence. 

 Last night, I failed to sleep because of some 
familiar issues that couldn’t be avoided. 

 (a) inevitable 
 (b) incapable 
 (c) unthinkable 
 (d) unsolvable [a] 
 
7. Select the most appropriate segment to 

substitute the underlined wordsin the given 
sentence. 

 After he leave, we discussed his suggestion. 
 (a) he will be leaving 

(b) he was leaving 
 (c) he had left 
 (d) he has left [c] 
 
8. Select the word from the sentence below, 

which is an antonym for the word ‘advance’. 
 Clive is a travel blogger who believes that with 

even an elementary or intermediate 
Knowledge of the local language, you can 
enjoy your travel more. 

 (a) Elementary 
 (b) Believes 
 (c) knowledge 
 (d) Destination [a] 
 
9. Select the option that will improve the 

underlined part of the given sentence. 
 My friend vanished when the goons came to 

fight with me. 
 (a) condemned when the thugs arrived 
 (b) disappeared when the thugs arrive 
 (c) attacked when the thugs arrived 
 (d) mobilised when the thugs arrived [b] 
 
10. Parts of the following sentence have been 

given as options. Select the option that 
contains an error. 

 My neighbours were serious injured in the car 
accident. 

 (a) serious injured 
 (b) the car accident 
 (c) My neighbours were 
 (d) in [a] 
 
11. Select the most appropriate ANTONYM of the 

given word. 
 Convalesce 
 (a) Corrupt 
 (b) Collapse 
 (c) Conceal 
 (d) Confront [b] 
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12. Select the INCORRECTLY spelt word in the 
given sentence. 

 Every season the river overflows its banks and 
when it goes down it leaves silt for crops to be 
gruwn. 

 (a) Silt 
 (b) Gruwn 
 (c) Season 
 (d) Overflows [b] 
 
13. Select the most appropriate idiom that can 

substitute the underlined segment in the 
given sentence. 

 The players like the coach because he is 
honest, realistic and practical in dealing with 
them. 

 (a) sick and tired 
 (b) down to earth 
 (c) far and wide 
 (d) by and large [b] 
 
14. The following sentence has been divided into 

parts. One of them contains an error. Select 
the part that contains the error from the given 
options. 

 Mr. Vinu / has never / slept in / a igloo. 
 (a) a igloo 
 (b) Mr. Vinu 
 (c) slept in 
 (d) has never [a] 
 
15. Select the most appropriate synonym of the 

given word. 
 Mourn 
 (a) Dread 
 (b) Grieve 
 (c) Approve 
 (d) Amuse [b] 
 
16. Select the option that can be used as a one-

word substitute for the underlined words. 
 He was promoted to a higher position in the 

first year due to his careful nature and hard-
working efforts. 

 (a) diligence 
 (b) extraordinary 
 (c) elegance 
 (d) business mindedness [a] 
 
17. Select the option that can be used as a one-

word substitute for the given group of words. 
 A lively, cheerful outgoing person. 

 (a) Orator 
 (b) Extrovert 
 (c) Introvert 
 (d) Ambivert [b] 
 
18. Select the word from the sentence below, 

which is an antonym for the word ‘resolve’ 
 My cousin Nisha’s curiosity about life will 

never be satisfied because no one knows all 
the answers to all her questions. 

 (a) Knows 
 (b) About 
 (c) Questions 
 (d) Satisfied [c] 
 
19. Select the option that can be used as a one-

word substitute for the given group of words. 
 A lover of mankind 
 (a) Psychiatrist 
 (b) Philanthropist 
 (c) Cynic 
 (d) Recluse [b] 
 
20. Underlined word in the sentence is not spelt 

correctly. Identify the correct spelling from 
the options given below. 

 Raman had been living a reklusive life since he 
had lost his job. 

 (a) Reslusive 
 (b) Reclucive 
 (c) Reclusive 
 (d) Recslusive [c] 
 
21. Select the most appropriate idiom for the 

given situation focusing on the underlined 
words. 

 I invited them to my anniversary dinner but 
they had other plans, so they decided to 
politely decline with the implication that they 
may come at a later date. 

 (a) To take a rain check 
 (b) Call it a day 
 (c) Took it with a grain of salt  
 (d) To spoil a moment [a] 
 
22. Select the INCORRECTLY spelt word. 
 (a) Academy 
 (b) Bycycle 
 (c) Mystery 
 (d) Justice [b] 
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23. Identify the most appropriate antonym of the 
given word. 

 Rapid 
 (a) active 
 (b) slow 
 (c) smart 
 (d) lately [b] 
 
24. Select the most appropriate idiom that can 

substitute the underlined segment in the 
given sentence. 

 Popular cosmetics brands in India are very 
expensive. 

 (a) take it with a pinch of salt 
 (b) cost an arm and a leg 
 (c) up in arms 
 (d) flog a dead horse [b] 
 
25. The following sentence has been split into four 

segments. Identify the segment that contains 
a spelling error. 

 The dried raisons / have an intoxicating /effect 
on humans as / well as flora and fauna. 

 (a) well as flora and fauna. 
 (b) The dried raisons 
 (c) effect on humans as 
 (d) have an intoxicating [b] 
 
26. What is the most appropriate ANTONYM of the 

word ‘fluctuate’? 
 (a) Vacillate 
 (b) Fickle 
 (c) Stabilise 
 (d) Deflect [c] 
 
27. Parts of the given sentence have been 

underlined. One of them contains an error. 
Select the option that has the segment with a 
grammatical error. 

 The art historian argued that the painting's 
value has been greatly underestimated, and 
that its unique style and technique deserved 
recognition from the art community and the 
public alike. 

 (a) recognition from the art community 
 (b) its unique style and technique 
 (c) and the public alike 
 (d) has been greatly underestimated [d] 
 
28. Select the option that rectifies the spelling 

error in the given sentence. 
 The phone rang, but nobody awnsered. 

 (a) answorod 
 (b) answered 
 (c) awmsered 
 (d) ansvered [b] 
 
29. Select the most appropriate idiom to fill in the 

blank. 
 When I went to Egypt and lost my wallet and 

passport, I was _____________. 
 (a) rolling up my sleeves 
 (b) putting my nose to the grindstone 
 (c) up in a creek without a paddle 
 (d) working my fingers to the bone [c] 
 
30. The following sentence has been divided into 

four segments. Identify the segment that has 
a grammatical error. 

 I am working with him since 2002, / but even 
today / I am unable / to understand his 
motives. 

 (a) to understand his motives. 
 (b) but even today 
 (c) I am unable  
 (d) I am working with him since 2002, [d] 
 
31. Select the most appropriate ANTONYM of the 

given word. 
 Confound 
 (a) Discern 
 (b) Assure 
 (c) Suppress 
 (d) Expire [b] 
 
32. Select the option that can be used as a one-

word substitute for the given group of words. 
 An area/place in which dead bodies are buried 
 (a) Clementi 
 (b) Demise 
 (c) Cemetery 
 (d) Mansion [c] 
 
33. Select the most appropriate meaning of the 

given idiom. 
 Gift of the gab 
 (a) A gift for a person named Gab 
 (b) A talent for singing 
 (c) A talent for lying 

(d) A talent for speaking [d] 
 
34. Select the option that can be used as a one-

word substitute for the given group of words. 
 Weak and cowardly 
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 (a) Weak and cowardly 
 (b) Meek 
 (c) Anxious 
 (d) Timid [a] 
 
35. Select the most appropriate option that can 

substitute the underlined segment in the 
given sentence. 

 No sooner had she finished her breakfast that 
she had received a phone call from her boss, 
informing her that she needed to come to 
work immediately. 

 (a) that she received 
 (b) than she received 
 (c) than she receives 
 (d) that she receives [b] 
 
36. Select the most appropriate option that can 

substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select ‘No substitution’. 

 If I was very rich, I would spend all my time 
and money for the poor. 

 (a) If I were very rich 
 (b) If I have much riches 
 (c) No substitution 
 (d) If I am very rich [a] 
 
37. Select the most appropriate idiomatic 

expression that can substitute the underlined 
segment in the given sentence. 

 He is very strict with his students but good-
natured. 

 (a) his eyes are bigger than his stomach 
 (b) he has a big mouth 
 (c) his heart misses a beat 
 (d) his heart is in the right place [d] 
 
38. Select the most appropriate idiom that can 

substitute the underlined segment in the 
given sentence and complete the sentence 
correctly. 

 It is important to take this opportunity to 
make a name for yourself – beat around the 
bush. 

 (a) pass with flying colours 
 (b) strike while the iron is hot 
 (c) fight tooth and claw 
 (d) bare the foot [b] 
 
 

39. Select the most appropriate meaning of the 
given idiom. 

 To leave no stone unturned 
 (a) To control a person completely 
 (b) To do everything possible to achieve 

something 
 (c) To win everything that is available 
 (d) To treat someone/something as if of no 

importance [b] 
 
40. Select the most appropriate ANTONYM of the 

given word. 
 Oral 
 (a) Verbal 
 (b) Dejected 
 (c) Inscribed 
 (d) Obligatory [c] 
 
41. In the following passage, some words have 

been deleted. Read the passage carefully and 
select the most appropriate option to fill in 
each blank. 

 Why do people yawn? No one seems to know the 
exact (1) ________. Some people believe that we 
yawn (2) ________ we do not have enough oxygen 
in our bodies. In (3) ________ words, we yawn to 
breathe in (4) ________ oxygen. People also believe 
that yawning is associated (5) ________ boredom. 

 Select the correct option to fill blank 1. 
 (a) reality 
 (b) explanation 
 (c) basis 
 (d) reason [d] 
 
42. In the following passage, some words have 

been deleted. Read the passage carefully and 
select the most appropriate option to fill in 
each blank. 

 Why do people yawn? No one seems to know the 
exact (1) ________. Some people believe that we 
yawn (2) ________ we do not have enough oxygen 
in our bodies. In (3) ________ words, we yawn to 
breathe in (4) ________ oxygen. People also believe 
that yawning is associated (5) ________ boredom. 

 Select the correct option to fill blank 2. 
 (a) as 
 (b) while 
 (c) when 
 (d) why [c] 
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43. In the following passage, some words have 
been deleted. Read the passage carefully and 
select the most appropriate option to fill in 
each blank. 

 Why do people yawn? No one seems to know the 
exact (1) ________. Some people believe that we 
yawn (2) ________ we do not have enough oxygen 
in our bodies. In (3) ________ words, we yawn to 
breathe in (4) ________ oxygen. People also believe 
that yawning is associated (5) ________ boredom. 

 Select the correct option to fill blank 3. 
 (a) some 
 (b) other 
 (c) rather 
 (d) new [b] 
 
44. In the following passage, some words have 

been deleted. Read the passage carefully and 
select the most appropriate option to fill in 
each blank. 

 Why do people yawn? No one seems to know the 
exact (1) ________. Some people believe that we 
yawn (2) ________ we do not have enough oxygen 
in our bodies. In (3) ________ words, we yawn to 
breathe in (4) ________ oxygen. People also believe 
that yawning is associated (5) ________ boredom. 

 Select the correct option to fill blank 4. 
 (a) more 
 (b) less 
 (c) much 
 (d) little [a] 
 
45. In the following passage, some words have 

been deleted. Read the passage carefully and 
select the most appropriate option to fill in 
each blank. 

 Why do people yawn? No one seems to know the 
exact (1) ________. Some people believe that we 
yawn (2) ________ we do not have enough oxygen 
in our bodies. In (3) ________ words, we yawn to 
breathe in (4) ________ oxygen. People also believe 
that yawning is associated (5) ________ boredom. 

 Select the correct option to fill blank 5. 
 (a) with 
 (b) in 
 (c) by 
 (d) on [a] 
 
46. Read the given passage and answer the 

questions that follow. 
 Ahoy there, matey! Today, we’re going to talk 

about something near and dear to my heart: 

pirates. You know, those swashbuckling 
scallywags who pillage and plunder on the high 
seas. Now, when you think of pirates, you might 
picture them as these tough, intimidating figures. 
But let me tell you, there’s a lot more to these 
buccaneers than meets the eye. For one thing, 
have you ever noticed that pirates seem to have 
an unusual fondness for parrots? I mean, come 
on. They’re birds. What use could a pirate 
possibly have for a bird? And then there’s the 
whole eyepatch thing. Yes, pirates are known for 
wearing eyepatches, but did you ever stop to 
wonder why? Some people think it’s because they 
lost an eye in battle, but the real reason is much 
simpler: it’s so they can switch the patch from eye 
to eye and maintain night vision in both eyes. 
Genius, right? But my favourite pirate quirk has 
got to be their love of treasure. I mean, who 
doesn’t love a good treasure hunt? But the way 
pirates go about it is just hilarious. They’ll spend 
months, even years, searching for that one 
elusive chest of gold, only to bury it on some 
deserted island and forget where they put it. It’s 
like they’re playing an eternal game of hide-and-
seek with themselves. And let’s not forget about 
their vocabulary. Pirates have a whole language 
all their own, full of terms like ‘shiver me timbers’, 
‘avast’, and ‘yo-ho-ho’. I mean, what does any of 
that even mean? It’s like they’re speaking a 
different language entirely. So, there you have it, 
folks. Pirates might be fierce, but they’re also 
pretty darn funny. Who knows? Maybe we could 
all learn a thing or two from these salty dogs. 

 What is one of the pirate quirks mentioned in 
the passage? 

 (a) Their love of gardening 
 (b) Their tendency to forget where they buried 

their treasure 
 (c) Their fondness for cats 
 (d) Their love for basketball [b] 
 
47. Read the given passage and answer the 

questions that follow. 
 Ahoy there, matey! Today, we’re going to talk 

about something near and dear to my heart: 
pirates. You know, those swashbuckling 
scallywags who pillage and plunder on the high 
seas. Now, when you think of pirates, you might 
picture them as these tough, intimidating figures. 
But let me tell you, there’s a lot more to these 
buccaneers than meets the eye. For one thing, 
have you ever noticed that pirates seem to have 
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an unusual fondness for parrots? I mean, come 
on. They’re birds. What use could a pirate 
possibly have for a bird? And then there’s the 
whole eyepatch thing. Yes, pirates are known for 
wearing eyepatches, but did you ever stop to 
wonder why? Some people think it’s because they 
lost an eye in battle, but the real reason is much 
simpler: it’s so they can switch the patch from eye 
to eye and maintain night vision in both eyes. 
Genius, right? But my favourite pirate quirk has 
got to be their love of treasure. I mean, who 
doesn’t love a good treasure hunt? But the way 
pirates go about it is just hilarious. They’ll spend 
months, even years, searching for that one 
elusive chest of gold, only to bury it on some 
deserted island and forget where they put it. It’s 
like they’re playing an eternal game of hide-and-
seek with themselves. And let’s not forget about 
their vocabulary. Pirates have a whole language 
all their own, full of terms like ‘shiver me timbers’, 
‘avast’, and ‘yo-ho-ho’. I mean, what does any of 
that even mean? It’s like they’re speaking a 
different language entirely. So, there you have it, 
folks. Pirates might be fierce, but they’re also 
pretty darn funny. Who knows? Maybe we could 
all learn a thing or two from these salty dogs. 

 Why do pirates wear eyepatches? 
 (a) To intimidate their enemies 
 (b) Because they lost an eye in battle 
 (c) To maintain night vision in both eyes 
 (d) To cover up an embarrassing birthmark [c] 
 
48. Read the given passage and answer the 

questions that follow. 
 Ahoy there, matey! Today, we’re going to talk 

about something near and dear to my heart: 
pirates. You know, those swashbuckling 
scallywags who pillage and plunder on the high 
seas. Now, when you think of pirates, you might 
picture them as these tough, intimidating figures. 
But let me tell you, there’s a lot more to these 
buccaneers than meets the eye. For one thing, 
have you ever noticed that pirates seem to have 
an unusual fondness for parrots? I mean, come 
on. They’re birds. What use could a pirate 
possibly have for a bird? And then there’s the 
whole eyepatch thing. Yes, pirates are known for 
wearing eyepatches, but did you ever stop to 
wonder why? Some people think it’s because they 
lost an eye in battle, but the real reason is much 
simpler: it’s so they can switch the patch from eye 
to eye and maintain night vision in both eyes. 

Genius, right? But my favourite pirate quirk has 
got to be their love of treasure. I mean, who 
doesn’t love a good treasure hunt? But the way 
pirates go about it is just hilarious. They’ll spend 
months, even years, searching for that one 
elusive chest of gold, only to bury it on some 
deserted island and forget where they put it. It’s 
like they’re playing an eternal game of hide-and-
seek with themselves. And let’s not forget about 
their vocabulary. Pirates have a whole language 
all their own, full of terms like ‘shiver me timbers’, 
‘avast’, and ‘yo-ho-ho’. I mean, what does any of 
that even mean? It’s like they’re speaking a 
different language entirely. So, there you have it, 
folks. Pirates might be fierce, but they’re also 
pretty darn funny. Who knows? Maybe we could 
all learn a thing or two from these salty dogs. 

 Which of the following options best describes 
the tone of the passage? 

 (a) Sarcastic 
 (b) Serious 
 (c) Angry 
 (d) Humorous [d] 
 
49. Read the given passage and answer the 

questions that follow. 
 Ahoy there, matey! Today, we’re going to talk 

about something near and dear to my heart: 
pirates. You know, those swashbuckling 
scallywags who pillage and plunder on the high 
seas. Now, when you think of pirates, you might 
picture them as these tough, intimidating figures. 
But let me tell you, there’s a lot more to these 
buccaneers than meets the eye. For one thing, 
have you ever noticed that pirates seem to have 
an unusual fondness for parrots? I mean, come 
on. They’re birds. What use could a pirate 
possibly have for a bird? And then there’s the 
whole eyepatch thing. Yes, pirates are known for 
wearing eyepatches, but did you ever stop to 
wonder why? Some people think it’s because they 
lost an eye in battle, but the real reason is much 
simpler: it’s so they can switch the patch from eye 
to eye and maintain night vision in both eyes. 
Genius, right? But my favourite pirate quirk has 
got to be their love of treasure. I mean, who 
doesn’t love a good treasure hunt? But the way 
pirates go about it is just hilarious. They’ll spend 
months, even years, searching for that one 
elusive chest of gold, only to bury it on some 
deserted island and forget where they put it. It’s 
like they’re playing an eternal game of hide-and-
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seek with themselves. And let’s not forget about 
their vocabulary. Pirates have a whole language 
all their own, full of terms like ‘shiver me timbers’, 
‘avast’, and ‘yo-ho-ho’. I mean, what does any of 
that even mean? It’s like they’re speaking a 
different language entirely. So, there you have it, 
folks. Pirates might be fierce, but they’re also 
pretty darn funny. Who knows? Maybe we could 
all learn a thing or two from these salty dogs. 

 Which of the following would be the most 
appropriate title for this passage? 

 (a) The Humorous Quirks of Pirates 
 (b) The Mysterious Language of Pirates 
 (c) The Fierce and Intimidating Pirate Culture 
 (d) The Serious World of Pirates [a] 
 
50. Read the given passage and answer the 

questions that follow. 
 Ahoy there, matey! Today, we’re going to talk 

about something near and dear to my heart: 
pirates. You know, those swashbuckling 
scallywags who pillage and plunder on the high 
seas. Now, when you think of pirates, you might 
picture them as these tough, intimidating figures. 
But let me tell you, there’s a lot more to these 
buccaneers than meets the eye. For one thing, 
have you ever noticed that pirates seem to have 
an unusual fondness for parrots? I mean, come 
on. They’re birds. What use could a pirate 
possibly have for a bird? And then there’s the 
whole eyepatch thing. Yes, pirates are known for 
wearing eyepatches, but did you ever stop to 
wonder why? Some people think it’s because they 
lost an eye in battle, but the real reason is much 
simpler: it’s so they can switch the patch from eye 
to eye and maintain night vision in both eyes. 
Genius, right? But my favourite pirate quirk has 
got to be their love of treasure. I mean, who 
doesn’t love a good treasure hunt? But the way 
pirates go about it is just hilarious. They’ll spend 
months, even years, searching for that one 
elusive chest of gold, only to bury it on some 
deserted island and forget where they put it. It’s 
like they’re playing an eternal game of hide-and-
seek with themselves. And let’s not forget about 
their vocabulary. Pirates have a whole language 
all their own, full of terms like ‘shiver me timbers’, 
‘avast’, and ‘yo-ho-ho’. I mean, what does any of 
that even mean? It’s like they’re speaking a 
different language entirely. So, there you have it, 
folks. Pirates might be fierce, but they’re also 

pretty darn funny. Who knows? Maybe we could 
all learn a thing or two from these salty dogs. 

 What is a common phrase used in pirate 
language? 

 (a) Yo, dude! 
 (b) Shiver me timbers 
 (c) Howdy, partner! 
 (d) Greetings, friend! [b] 
 
 
 


